>CQ>§( 26,2910

Note Title 8/26/2010

1+ Other 4u1f 9 MJSP\AX.DJ,

mvh?z,ﬁ,ﬂ
X7 — 3% —10 =0 or)y = o

. — (Y
()= 3(oc5) = le=0 =)

lh U =X%  (fubokhkiom )
We —3y—lo = O Quadabi
(u-5)(u+2) =O

U=S5S & U= —2




whew U= §

Yh=S
3 réowpe bath s1due 1o
x=25 Pset 3.

=12y



mHofs_urﬁ

X —32% - x5 = O
. Re ol
Fador 04 X% . MR

| YL =X
X% ARNIWN\L: =0

X% (x-4(x+1) =0

TEINY
X =0 xX=— 4 n = —|
Soludvon St & {-1,0 41,



mxoss\uc,

X+ 22— X -2 = O
_
P+ x-2 = O

|

X(x+2) =1 (x+2) = O

—_——

@?imﬁ.n_v = O Dihren ﬁ&%%ﬁ

S—

(x+2) (144) (2=1) = O — A B) = (4+g (-8

X=-2 & A=—=1| @~ A= |






C) -1 4x <y [-1y)
_.JNMC.BFMQ 1w e red

m.H Q\T\/PS

Ss—3x <23
Sublrad & Jrom bott Stohto
—3x £ 1§

Aividt be# Sidus PQ —3




.T >—-C P ,NSM_ H_V»?;

mxg(,—og

SX ¢ Y43

P

3 2

z,ftc.%cu Lol Sickes ru Les 6

() <o)
2 ()




2(5%) & 2 (4+3x)

lox £ 12 + 49X

Sobbud 9y e Lt iole,

T m~PN MIoo 12 ]

tade o naks




—

E X owm ple. S

=

-2 {33+ L 16
Subbad & %?S 25, k. _oo,\n

-6 <d3x £ 12

Avide €acu ~oo/l _ou 3

-
3




MN?JOI C

| <77 oy
1

3%1,}.— €l quorl. r/‘_ T

7 £ —2—-3x £ 2§

add 2 o Eacl. pest

9 £ —3x & 3o

divide es _d — 3






